#### CHABOT-LAS POSITAS COMMUNITY COLLEGE DISTRICT

#### March 17, 2009

Agenda Item: 3.4

Subject: Professional Expert Personnel

<u>Recommended Action</u>: That the Board of Trustees approves the following Professional Expert Personnel.

# I. ASSIGNED TO CHABOT COLLEGE

# A. Employment

#### General

Andrade, Deverie J., effective 03/18/09 - 06/30/09, \$20.00/hour, not to exceed 300 hours. (maximum = \$6,000)

House theater manager for the Performing Arts Center

Bidgoli, Mahboube G., effective 03/18/09 - 06/30/09, \$45.00/hour, not to exceed 400 hours. (maximum = \$18,000)

Speech and language consultation for children

Goekler, Sarah L., effective 03/18/09 to 06/30/09, \$32.00/hour, not to exceed 600 hours. (maximum = \$19,200)

Steno Captioner for students that are deaf or hard of hearing and have no sign language skills

Jones-Rasberry, Lois E., effective 03/18/09 to 06/30/09, \$65.00/hour, not to exceed 50 hours. (maximum = \$3,250)

Specialist for the Community Action Outreach to Infants (CARI) program

Kiger, Nina J., effective 03/18/09 to 06/30/09, \$32.00/hour, not to exceed 40 hours/month. (maximum = \$5,120)

Cheerleader advisor

Lothian, Tom E., effective 03/18/09 to 06/30/09, \$30.00/hour, not to exceed 400 hours. (maximum = \$12,000)

To provide web design, training, and support for the Hewlett Faculty Inquiry

Merritt, Monique M., effective 03/18/09 to 06/30/09, \$35.00/hour, not to exceed 600 hours. (maximum = \$21,000)

To provide sign language for the hearing impaired

Agenda Item: 3.4 March 17, 2009

Page 2

Schwer, Katherine L., effective 03/18/09 to 06/30/09, \$20.00/hour, not to exceed 25 hours/week. (maximum = \$8,000)

Provide accommodations for the Coordinator of the Disabled Student Programs and Services

Symes, Jessica D.K., effective 03/18/09 – 06/30/09, \$190/student Registered Nurse who will guide students through the individual care of a single patient for qualification into the Nursing Program

# **Community Education**

Padgett, Denise (nmi), effective 03/18/09 to 06/30/09, \$27.60/per student, 20 hours maximum.

Community education instructor to teach Zumba Dance classes

Shevchenko De Motto, Tetyana (nmi), effective 03/18/09 - 06/30/09, \$25.00/hour, not to exceed 32 hours. (maximum = \$800)

Community education instructor to teach Russian

Soriano, Carine (nmi), effective 03/21/09 - 06/30/09, \$25.00/hour, not to exceed 12 hours. (maximum = \$300)

Community education instructor to teach Picture Matting and Framing classes

# II. ASSIGNED TO LAS POSITAS COLLEGE

#### A. Employment

#### General

Cullen, River A., effective 03/18/09 - 06/30/09, \$15.00/hour, not to exceed 100 hours. (maximum = \$1,500)

Provide skills evaluation of Health 81 course

Hirashiki, Abby K., effective 03/18/09 to 06/30/09, \$35.00/hour, not to exceed 20 hours/week. (maximum = \$11,200)

Provide assistance with County's Workforce Investment Act case management

Ong, Kimberly L., effective 03/18/09 to 03/31/09, Flat rate of \$5,200.

Set up special program to aid students, faculty, staff, and administrators in understanding nutrition, exercise, and mind/body for Las Positas College Center

Ong, Kimberly L., effective 04/1/09 to 06/30/09, \$40/hour, not to exceed 10 hours per week. (maximum = \$5,600)

Special program to aid students, faculty, staff, and administrators in understanding nutrition, exercise, and mind/body for Las Positas College Center

### **Community Education**

Castillo, Amy M., effective 03/18/09 to 06/30/09, \$40.00/hour, not to exceed 100 hours. (maximum = \$4,000)

Community education instructor for athletic classes

Costello, Anthony J., effective 03/18/09 - 06/30/09, \$40.00/hour, not to exceed 100 hours. (maximum = \$4,000)

Community education instructor for athletic classes

Faust Carol C., effective 03/18/09 – 06/30/09, \$20.00/student.

Community education instructor for piano classes

Kilburn, Lois (nmi), effective 03/18/09 - 06/30/09, \$40.00/hour, not to exceed 80 hours. (maximum = \$3,200)

Community education instructor for fishing classes

Manwell, Philip B., effective 03/18/09 - 06/30/09, \$40.00/hour, not to exceed 80 hours. (maximum = \$3,200)

Community education instructor for design, art, and music classes

Murray, Stephen D., effective 03/18/09 - 06/30/09, \$40.00/hour, not to exceed 80 hours. (maximum = \$3,200)

Community education instructor for fencing classes

# III. ASSIGNED TO DISTRICT SERVICES

### A. Employment

### General

Komanetsky, Mary Susan F., effective 03/18/09 to 06/30/09, \$75.00/hour. To provide contract education for soft skills